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General Instructions :

(i) Please read the instructions carefully.
(ii) This question paper consists of 24 questions in two sections : Section A and
Section B.
(iii)  Section A has Objective Type Questions whereas Section B contains Subjective
Type Questions.
(iv)]  Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.
) All questions of a particular section must be attempted in the correct order.
(vi)  Section A : Objective Type Questions (30 marks) :
(a) This section has 6 questions.
(b) There is no negative marking.
c o0 as per the instructions given.
(c) Do asperthei ons gi
(d)  Marks allotted are mentioned against each question/part.
Vii ection B : Subjective Type Questions (30 marks) :
(vii)  Section B : Subjective T ons (30 ks)
(@) This section has 18 questions.
(b) A candidate has to do 11 questions.
c o0 as per the instructions given.
(¢)  Doasperthei ons gi
arks allotted are mentioned against each question/part.
(d)  Marks allotted joned agai h question/p
SECTION A
(Objective Type Questions) (30 Marks)
1. Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4
(1) Which of the following in not a step of Active listening ?
(A) Contact (B)  Think
(C) Absorb (D) Reflective feedback
(i)  How is personality shaped ?
(i11)  Self-motivated individuals are a/an to the world, country, their
families and to themselves.
(A) asset (B) debtor
(C) burden (D) familiar
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(1v) are used to calculate results through arithmetic operations in Calc.
(v)  The main goal of team building is to improve
(A) creativity
(B) output
(C) productivity and motivation
(D) negotiation skills
(vi)  Give the full from of UNEP.
Answer any 5 out of the given 7 questions. Sx1=5
(1) Which company introduced steamship services to India and the Far East ?
(A) Peninsular and Oriental
(B) Thomas Cook
(C) Jeena & Company
(D) Cox & Kings
(i1)  The world’s first international tour was from
(A) England to India
(B) England to Japan
(C) England to Paris
(D) England to London
(i)  Which of the following industry is not a part of the Tourism industry ?
(A) Hotel
(B) Airlines
(C) Trekking
(D) Clothing
Page 5 P.T.O.
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(iv)

)

(vi)

(vii)

Which are the tour operators who assemble and combine tourist

components into inclusive tours and sell it to domestic travellers ?

(A) Destination management companies

(B) Domestic tour operators

(C)  Outbound tour operators

(D) Inbound tour operators

Travel agencies largely cater to and
(A) middle, lower

(B) upper, lower

(C) lower, upper

(D) middle, upper

CRS stands for :

(A)
(B)
©
(D)

Which of the following is not a type of agency in the UK ?

(A)
(B)
©
(D)

Computer Reservation System
Customized Reservation System
Compulsory Reservation System

Controlled Reservation System

Multiples
Miniples
Independent agencies

Hired agencies
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Answer any 6 out of the given 7 questions.
(1) Define the term ‘Commission’.
(i1) transport is the main mode for international tourism.
(A) Rail (B) Road
(C) Water (D) Air
(ii1))  Write the full form of LCC.
(iv)  Steam locomotive was introduced in the year
(A) 1829 (B) 1830
(C) 1828 (D) 1831
v) Big cruises are like resorts.
(A) floating (B) beautiful
(C) stable (D) balanced
(vi)  While pacing the itinerary, one should never take the passengers for
(A) respected (B)  granted
(C) free (D)  important
(vii)  Which of the following itinerary is used for marketing purposes ?
(A) Skeletal (B)  Technical
(C) Descriptive (D)  Vendor
Answer any § out of the given 6 questions.
(1) document provides tourists the essential information such as
departure point/time, check in-check out time, etc.
(i1)  The term ‘No.of PAX’ stands for :
(A) Number of Passengers
(B) Number of Processes
(C) Number of Proposals
(D) Number of Products
(i)  Tour is arranged as per the demand of
(A) retailers
(B) wholesalers
(C) producers
(D) customers
Page 9
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(iv)  In MICE package tours, ‘M’ stands for :
(A) Meetings
(B) Measures
(C©) Maximum
(D) Minimum

(v) Which type of tour brings out the concept of host-guest relationship ?

(vi)  Royal Virgo provides services.
(A) coach
(B) cruise

(C) railway
(D) airline

Answer any 5 out of given 6 questions.

(1) Accommodation is the component of cost.
(A) Direct (B) Indirect
(11) ratings are provided to the hotels.
(A) Star
(B) Gold
(C) Silver
(D) Good

(i)  This pricing strategy is with full rate before discounts are given :
(A) Seasonal pricing
(B) Last minute pricing
(C)  Per person pricing
(D) Rack rate pricing
(iv)  Name any two components of miscellaneous cost.

v) Give the full form of NTO.

(vi)  Which of the following is not the main activity of ASTA ?
(A) Industry affairs
(B) Education
(C) Consumer Awareness
(D) Pricing
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6. Answer any § out of the given 6 questions. SxI1=5
(1) has five categories of membership.
(A) PATA
(B) IATO
(C) ASTA
(D) TAAI
(11)  Give the full form of FIYTO.
(111) sites are analogous to a tip-sheet for selected bargains.

(iv)  Name any two GDS.

V) In ‘USDOT’, T stands for :
(A) Transportation (B) Telecommunication
(C) Travelocity (D) Travelogue

(vi)  Write the objective of GDS.

SECTION B
(Subjective Type Questions) (30 Marks)
Answer any 3 out of the given 5 questions based on Employability Skills in
20 — 30 words each. 3x2=6
7. Why is active listening important in the workplace ?
8. Name four types of motivation.
9. Give any two applications of spreadsheet.

10.  List out any two barriers to entrepreneurship.

11.  Mention any two advantages of green jobs.

Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12.  Write the concept of Grand Tour.

13.  What do you understand by Multimodal transport ?
14.  Give any two features of Itinerary planning.

15.  What is the meaning of Incentivised Tour ?

16. How does GDS differ from CRS ?
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Answer any 2 out of the given 3 questions in 30 — 50 words each. 2x3=6
17.  Mention the two approaches of Travel Agencies.
18.  Explain the concept of Cost-Based Pricing used in tourism business.

19.  List out any three activities performed by ATOALI in India.

Answer any 3 out of the given 5 questions in 50 — 80 words each. Ix4=]2
20.  “Tour operators are sometimes called wholesalers but this is partially true.” Justify the
statement.

21.  Explain the concept of package tour.

22.  “Programming is nothing but an addition of services wihout cutting the prime activities

of sightseeing or excursion.” List out some advantages of tour programming from both,

tour operators’ and customers’ point of view.

23.  What is cost sheet ? Why is it important to prepare cost sheet ?

24.  “Effective integration between government and professional bodies can deliver

significant benefits.” List out the benefits.
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